Time Continuity Plot

3
Time (s)



KAM (BW*ht)

Left Knee Adduction Moment Right Knee Adduction Moment

Left Knee Right Knee
0.015 - (‘/\A 0.015 -
0.010 - 0.010 -
=
£ 0.005 1
0.005 - =
o
=
L 0.000 mmmrmmomm oo e
0.000 f----r---m--mmmmmmommee e oo LA
~0.005 -
—0.005 -
—0.010 A
Left Knee Medial Contact Force Right Knee Medial Contact Force
2.5
1.5
2.0
1.0 1
= 1.5 =
Q o
L L
s s
1.0 - 0.5
05 T Oo [ S R, | A P P S R Sy S | 1 U S ——
0.0 1
T T T T T T T T _0.5 L T T T T T T T T
0 1 2 3 4 5 6 7 0 1 2 3 4 5 6 7



Force (BW)

Force (BW)

Force (BW)

ground_force_left_vx

=
o
1

o
(o]
1

o
[e)]
1

o
>
1

o
N
1

o
o
]

I

Left Side

Force (BW)

ground_force_left_vy

1.0 A

0.8 A

0.6 1

0.4 4

0.2 A

0.0 A

Force (BW)

ground_force_left vz

1.0 A

0.8 A

0.6 1

0.4

0.2 A

0.0 -

Force (BW)

ne (s)

ground_force_right_vx

=
o
1

o
(o]
1

o
(o))
1

o
N
1

©
N
1

Right Side

°©
o
1

ground_force_right vy

1.0 A

0.8 1

0.6

0.4 1

0.2

0.0 -

ground_force_right_vz

1.0 A

0.8

0.6

0.4

0.2 1

0.0 A =




